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Exam, Public Finance, 2013-02-24

Mikael Priks

This exam consists of three questions. The first and second question give 40 credits each and
the last question gives 20 credits. p denotes prices and g quantities. To get full credit, you
need to state and explain your results clearly. Good luck!

Theoretical Tools of Public Finance (40)

a) Explain the substitution effect.

b) What does diminishing marginal utility mean?

c) A budget constraint is given by Y=PAQA + PBQB where Y denotes income, QA and
QB are quantities of goods A and B and PA are PB are prices of the goods. Assume
now that an individual’s income is equal to 100 and that the price of each of the goods
is 2. Draw the budget line in a figure with QB on the vertical axis and QA on the
horizontal axis. How many goods of B can the individual consume if he consumes 20
units of good A? Show in the figure.

d) Assume that an individual has the following problem (we use the same notation as in
question 1c)

st.¥ = PAQA + PBQB
Solve for the optimal consumption of QA and QB.
Public Goods (40)

a) What are the two characteristics of a pure public good? Explain briefly.

b) Assume that individual 1 has the marginal valuation 4-q and individual 2 has the
marginal valuation 8-q where q is a public good. Show in a figure how the marginal
valuation curves should be summed up when the government decides on the optimal
level of public good provision. Why are the curves summed in this way?

¢) What is the condition for optimal provision of public goods? How is the level of
optimal public good provision affected if an additional individual is added to the

population valuating the good?

d) Assume that the demand for a public good is p=5-g. Derive the welfare loss if the
price can be set to 3. Show in a figure and explain.



Taxation (20)

a) Define the tax wedge.
b) Explain the Laffer curve briefly.



